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QUESTION 1

What are two types of security label components that can be used with Label-Based Access Control (LBAC)? (Choose
two). 

A. Set 

B. Tree 

C. Group 

D. Range 

E. Hierarchy 

Correct Answer: AB 

 

QUESTION 2

What type of Label-Based Access Control (LBAC) security label component is used to define a scale in which the first
element listed represents the highest level of trust a person can have and the last element listed represents the lowest
level of trust a person can have? 

A. Set 

B. Array 

C. Tree 

D. Range 

Correct Answer: B 

 

QUESTION 3

If the following statement is executed: REORGCHK UPDATE STATISTICS ON TABLE ALL What will happen? 

A. RUNSTATS will be executed on all user tables and a REORGCHK report will be generated. 

B. RUNSTATS will be executed on all user and system tables and a REORGCHK report will be generated. 

C. RUNSTATS will be executed on all user tables only if statistics have not been collected and a REORGCHK report will
be generated. 

D. RUNSTATS will be executed on all system tables only if statistics have not been collected and a REORGCHK report
will be generated. 

Correct Answer: B 
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QUESTION 4

Which table space is NOT created by default when the CREATE DATABASE command is executed? 

A. USERSPACE1 

B. TEMPSPACE1 

C. SYSCATSPACE 

D. SYSTOOLSSPACE 

Correct Answer: D 

 

QUESTION 5

Which statement about the REORGCHK command is true? 

A. It cannot be run against the system catalog. 

B. It automatically calls RUNSTATS by default. 

C. It cannot be run against multidimensional clustering tables. 

D. It automatically calls REORG if it is determined that a reorg is necessary. 

Correct Answer: B 
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